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�� (1) ���� k�������������� n�9n+8n+15
�� 2k ������������� k �������
���

(2) � (1) ���������� m���� n �����

���9n + 8n + 15 � 2m ������� 2m+1 ����

�� (1) ���cos π
7 ���� 8x4 +4x3−8x−3x+1 = 0����

(2) ������ 8x4 + 4x3 − 8x − 3x + 1 = 0 ������
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�� � Γ ������ P � Q � Γ ������� Γ ��� F
	���� PQ ��������� Γ ��� l 
�� K�
���� K ������������ PQ ����

�� 
������������
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(a) ����������������

(b) ��������������������

(c) �	���	�
�

�
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� p � q���	
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�
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�� (1) ��	� f(x) = x2+2x+3
x2+1 ���������

(2) ���	� g(x) = [log2 f(x)]+ 2��
��� [a] ���
�
�� a ������
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�� � f(x) = x4 − 3x3 + 5x2 + x + 11��� f(2.002) � (1) �

(�������������)

�� ��� x2 + (y−3)2

4 = 1 ��
����� y = ax2(a > 0) �

����� a ������ (2) �

�� � x �������	� f(x) = cosx+2 sinx
cosx+2 sinx+10 �����

(3) �

�� �
�������
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��		��
������

����� 6 �	�
����
���� (4) ���

������

�� �� x2

16 + y2

9 = 1 ������ x + y = 10 ������

(5) �

�� � 0 ≤ x ≤ 2π, 0 ≤ y ≤ 2π����� sin2 y
2 + cos2 x = 1 ��


������	�� (6) �

�� 
������ABC ��� 4, 6, 6 �����
�����
��
� D, E, F�����	� DE, EF, FD �����

A, B, C ��
�� P ������	� P -DEF�����
	���� P ��	 DEF ���� (7) �

A

B CD

EF

��
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�
4 ��� 5 ��


5 ���

4 ��
��� (8) ����������������
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